PI.	ANT	ENTER	PRISES	PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of	Gross Farm Value
COTTON	Troducers	710105	71010	Troduction	TVICUSUIC	v dide
Lint - Non-irrigated		4,101.0	800.00	3,280,800	lhe	\$1,706,016
Seed - Non-irrigated		4,101.0	1,280.00	5,249,280		\$288,710
Cotton (Total)	*	4,101.0	1,200.00	5,247,200	103.	\$1,994,726
FORESTRY		4,101.0				\$1,777,720
Pulpwood						
Pine				47,556	cords	
Hardwood				35,770		
Pulpwood (Total)				83,326		
Chip & Saw					cords	
Saw Timber				1,076	corus	
Pine				34,870,067	hoard feet	
Hardwood					board feet	
Saw Timber (Total)				36,833,364		
Total Pulpwood, Chip & Saw	ST.			30,033,304		\$24,070,376
Saw Timber FOB Mill	٠,					Ψ24,070,370
Total Forestry Stumpage						\$14,313,963
Christmas Trees	*			300	trees	\$12,000
Forestry (Total)				300	trees	\$24,082,376
FRUITS						Ψ21,002,370
Blackberries		9.0	950.00	8,550	nints	\$8,550
Blueberries		4.0	850.00	3,400		\$4,250
Fruits (Total)		13.0	030.00	5,100	105.	\$12,800
FEED GRAINS		13.0				Ψ12,000
Corn	6	3,574.0	100.00	357,400	bu	\$818,446
Grain Sorghum	6	279.0	32.00	8,928		\$35,712
Oats	*	44.0	45.00	1,980		\$4,693
Feed Grains (Total)		3,897.0	15.00	1,700	ou.	\$858,851

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
GREENHOUSE VEGETABLE	ES						_
Tomatoes	*	9,000.0	6.50	Yield / sq. ft.	58,500	lbs.	\$78,975
Greenhouse Vegetables (Total)		9,000.0					\$78,975
HAY FOR SALE							
Grass	45	3,500.0	3.50		12,250	tons	\$612,500
Hay for Sale (Total)		3,500.0					\$612,500
HOME GARDENS	1,600						\$480,000
PECANS							
Improved	10	450.0	275.00		123,750	lbs.	\$142,313
Native	8	50.0	100.00		5,000	lbs.	\$3,000
Pecans (Total)		500.0					\$145,313
SOYBEANS	8	5,803.0	33.00		191,499	bu.	\$1,273,468
VEGETABLES							
Cucumber							
Fresh		2.0	278.00		556	bu. (50 lbs.)	\$5,560
Cucumber (Total)		2.0					\$5,560
Lima Beans							
Fresh	*	4.0	75.00		300	bu. (32 lbs.)	\$9,000
Lima Beans (Total)		4.0					\$9,000
Okra (Fresh)	*	2.0	265.00		530	bu.	\$10,600
Snap Beans (Fresh)	10	5.0	125.00		625	bu. (30 lbs.)	\$12,500
Southern Peas (Fresh)	20	125.0	95.00		11,875	bu. (24 lbs.)	\$237,500
Turnips (Fresh)	12	15.0	550.00		8,250	doz. bunches	\$57,750
Vegetables (Total)		153.0					\$332,910
WHEAT	6	4,533.0	38.00		172,254	bu.	\$554,658
TOTAL ALL PLANT ENTER	PRISES						\$30,426,577

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

BOSSI	$\mathbf{E}\mathbf{R}$	PA	\mathbf{R}	ISH	I

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Crawfish (Farm)	*	120 Ac	eres in Prod.	45,000	lbs.	\$29,250
Catfish (Farm)	*	80 Ac	eres in Prod.	264,000	lbs.	\$150,480
Aquaculture (Total)						\$179,730
FRESHWATER FISHERIES						
Crawfish (Wild)				3,500	lbs.	\$1,820
Catfish (Wild)				16,000	lbs.	\$7,472
Buffalo				10,000	lbs.	\$1,540
Gar				500	lbs	\$461
Freshwater Fisheries (Total)						\$11,293
FUR ANIMALS				61	pelts	\$323
HUNTING LEASES	20	200,000 No	o. Acres		acre	\$1,100,000
		Lea	ased			
HONEY	8	775 No	o. Hives	95,000	lbs.	\$128,250
TOTAL ALL FISHERIES & V	VILDLIFE ENTERPRISES					\$1,419,596

ANIMAL ENTERPRISES PRODUCTION

A . 1	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			2,000	head	\$726,740
400-500 lbs.			1,250	head	\$522,506
500-600 lbs.			800	head	\$367,576
600-700 lbs.			325	head	\$169,000
Steer Calves (Total)					\$1,785,822
Heifer Calves					
300-400 lbs.			1,800	head	\$576,198
400-500 lbs.			1,200	head	\$452,358
500-600 lbs.			700	head	\$298,144
					Page 3 of 5

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					_
600-700 lbs.			200	head	\$97,500
Heifer Calves (Total)					\$1,424,200
Yearling Cattle					
600-700 lbs.			450	head	\$234,000
700-800 lbs.			200	head	\$112,500
Yearling Cattle (Total)					\$346,500
Cow-Calf Pairs			1,100	pair	\$792,000
Cull Cows			650	head	\$214,646
Cull Bulls			525	head	\$383,513
Cattle & Calves (Total)	230	6,200 No. Cows			\$4,946,681
DAIRY					
Dairy Cows					
Milk	*	67 No. Adult Cows	1,105,739		\$143,635
Cull Cows				head	\$8,256
Bull Calves			37	head	\$1,018
Dairy Cows (Total)					\$152,909
Dairy (Total)					\$152,909
HORSES					
Brood Mares					
Race Horses	175	1,000 No. Brood Mares		head	\$3,600,000
Show Horses	150	220 No. Brood Mares		head	\$300,000
Recreation Horses	620	1,600 No. Brood Mares	200	head	\$300,000
Brood Mares (Total)					\$4,200,000
Stud Fees					
Race Horses		10 No. Stallions		mares bred	\$250,000
Recreation Horses		15 No. Stallions	150	mares bred	\$15,000
Stud Fees (Total)					\$265,000

ANIMAL ENTERPRISES PRODUCTION

	ANIMA	ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value				
HORSES									
Race Horses	60		3.000	head	\$30,000,000				
Show Horses	150			head	\$1,000,000				
Recreation Horses	620			head	\$2,000,000				
Horses (Total)	V-V		_,,,,		\$37,465,000				
GOATS					. , ,				
Show Goats			20	head	\$3,000				
Slaughter Goats			38	head	\$3,230				
Stocker Goats				head	\$1,300				
Cull Goats			10	head	\$420				
Goats (Total)	*	60 No. Does			\$7,950				
SWINE									
Show Pigs			10	head	\$3,000				
Feeder Pigs			180	head	\$3,240				
Slaughter Hogs			100	head	\$12,350				
Culls			10	head	\$1,100				
Swine (Total)	*	10 No. Sows			\$19,690				
TOTAL ALL ANIMAL I	ENTERPRISES				\$42,592,230				
BOSSIER PARISH T	OTAL				\$74,438,403				